SHIEERERT—FrU—BEELHE(F)070214 _
AlH Z(R0/ X FZR0N 1 = H AR
41 5| &
4] 6| B [F1E#LHEELHES 7—Fz)=5 | O HAXKEERREEL(4~6) |20
4112
4 13| B |EZE7UINT77—Fz)—K& |7T—FzU—H | O
4119 = HRI-Z- 2/ REER18~19)[DFEZR
4] 20| B [F2E#(bHEELRHES 7—Fz)—%H | O
41 26| &
4| 27| B [BREEEARI APE(DE) [7—Fx)—5 | O
5] 3[#%
5 4]1H
5| 5| B NG N NTYIS—=
5| 6[i#E
5[ 10] £ [Bt#H® 7—Fr)—35 [ &R
5111 H
5117 & LHAAXRT(—ILE BRI
5/ 18] A LHEAT(—IR BRI
5] 24| &
5| 25| A | FE3ERILERE L ks 7—Fz)—% | O
5] 31| &
6] 11 H
6 71+ BEHEREREFERAS N
6] 8] H BEHREREFERAS N
6| 14| = PHETE 2FER
6] 15| B[4 8—11F:E T7—Fz)—5 | B FHETE EETH
6|21+
6[22] B [EXARRKEES 7—Fz)=% | O
6] 28| = TS NTRFE 205
61 29] B INEER EDE
7] 5]
7] 6] B |F4ER{bEE RS 7—Fz)=% | O
7112 £ HAAREEXM ML - H=Er
71 13| B|EZ79N77—FzU—Kk£ [7—Fz)—3B | O £ HAEEH ML - BT
71 19] £ [ZE 1B TakuShin Cup 7—Fz)—=% | O
7] 20[ B | % 1= TakuShin Cup 7—Fx)—35 | O SR —B# (20-21) INT S IN—H
7]126| = FlERIEERE
712711 B [RAFF—To7—Fri—Kk% |[7—Fz)—15 | O [Fi1ERIEEARE
8|l 2|+
8l 318 BIREMRA—INEFHEAR |/N\NTy/—7
BES 2EEREFEAS Wo-EE
BEEES 2EEREFEAS Wo-EE
8] 9|+ F2ERIEERE 7—Fz)—5
gl 10] 8 F2ERIEERE 7—Fz)—i5
8[ 16| + [EXABEHEIOVIKRE IY
8[ 17| B |[EXARBEEIOVIKRE IY
8| 23| =
8| 24| B
8] 30| =
IR 771 5% |ER SE (2930 |=B B
9] 6|+
9| 7| B [F5E#LHEZLHES 7—Fz)—35 | O
91 13| = F3ERIEETE
9] 14| B [BRMERE 7—Fz)—35 | B [F3E®RLETE A (EE
91 20| = SAEE(19~21) Z05
9| 21| B [ETINT R 7—Fz)=H [ O 2 BEARNRPERFRQ0~21)[DFER
9[ 221 8 B T/ —LNEFHE W
91 27| = F4ERIEETE 7—Fz)—5 SRR EATI—ILE LWCLDORAF
IEE EARRIEATE 7—Fr)— LHRAHEANT(—IE VCVDREE
10| 4| =
10] 5| H AIETRAS RITRAY SR ERREE(5~T) HE
10] 11| =
10| 12| B |BHBR7UNTEFHE 7—Fz)=%H | O
10] 18| =
10] 19] B |E&g AKX £ (30m) 7—F—5 [ &R
10] 25] = EXEES Exi 205
10[26] B |SRHFAXLE(T0m) 7—Fz)—15 | 8K EX=ES £ Z0E
[HE= AhHNF—F—KE IS4
11] 2| R AhHNF—FU—KE I35
11] 8| & FF—L/u21/ul 8FES Z0E
11] 9| B|BEERRKR—YKXE 7—Fz )5 FF—L/u21/ul 8FES Z0E
111 15[ = BIFEERERKE(156~16) [TE
11]116] B |CAFNREEZRHS 7—Fz— | O 2EFFLUIT—FIU-—K2(16~16) | DER
11122 &
11] 23| B [B1RAR7Z7—F =KL [V TT7U—F @)
11129 &
11]30] B | sE6EIR{LEE L&k 7—Fz)—5 | O
12] 6|
12| 7[{B[&E2E1 7K HI7)—+ O
121 13| =
12] 14| B
121 20| =
121211 8
121 27| =
12 28%3@4‘/#‘7—9’-1'}—?(% HI7)—+ @)




FARAVRT KRS

&
N
S
|
\'_
O

EBRIMBRIVITRE [HT7)—F

SE[RF

oot 2ot

FINT— AT RE HI7I—F

REAR—VE BSERERAATF—Fr—%2 [T F7)—F O

SHTFEERATEFE |HT7)—F ©)

LHAERNEF

i

=11q =111
R R
R

LHAENEFE

SPHEENBEFEQ7-28) |RIF-EIF

e e 7—Fz)—% | O

RibAEaLEs(FR) T—Fz=35 | O

}

HomEmR{E

o

T 7—Fz)—5

m

LE SRR (26~28) oFE

e e e e e e e e e e e e e ) e i

X
N

—F )35 BALSOKCAE7—F1)—35 XY T7)—F: RALSOKCAFH T7)—F KIZH  BISNBNRAR—Y TS




